Prénom: .........

M2


Je décompose
 en faisant une soustraction
· 295 x 4 = (300 x 4) - (5 x 4) = 1180
· 397 x 3 = (........... x .......) - (........... x .........) = ...................

· 496 x 5 = (........... x .......) - (........... x .........) = ...................

· 199 x 9 = (........... x .......) - (........... x .........) = ...................

· 98 x 4 = (........... x .......) - (........... x .........) = ...................

· 695 x 3 = (........... x .......) - (........... x .........) = ...................

· 691 x 2 = (........... x .......) - (........... x .........) = ...................

· 895 x 5 = (........... x .......) - (........... x .........) = ...................

· 999 x 13 = (........... x .......) - (........... x .........) = ...................

· 590 x 4 = (........... x .......) - (........... x .........) = ...................

· 791 x 3 = (........... x .......) - (........... x .........) = ...................

· 98 x 6 = (........... x .......) - (........... x .........) = ...................

· 99 x 15 = (........... x .......) - (........... x .........) = ...................

· 9 x 121 = (........... x .......) - (........... x .........) = ...................

· 94 x 8 = (........... x .......) - (........... x .........) = ...................
